Parts List
STOCK No DESCRIPTION QTY
2C1801 |[Cap Plastic 2 Start 1
2F1204 |M8 Lock Nut 1
2F1430 |M4 Washer 1 2F1715
2F1715 Screw 1 2M6106
2M1092 |Yellow Plastic Washer 1
2M6106 |Rack Handle 1
2M6107 |Barrel Screw Insert 1 3R6481
2P1021 |Split Sachet Plunger 1
2XH002 |Hanging Hook 1 2XH002
3F2419 [Steel Washer 1 2F1430
3F2443 |Nut & Washer 1
3P1006 |Steel 40mm 'Tin Hat' Plunger 1
3R6481 |Rack 480mm 1 7C1001
3XB052 [Barrel Screw 1
7B3375 |Barrel 375mm 1
7C1001 |Air Gun Back Cap 1
7A5100 |Electraflow Butt 1
7A5200 |Electraflow Battery 1 3XB052
7B3375 7A5100
2M1092
3F2443
3F2419
2F1204 2M6107
7A5200
2C1801
3P1006
2P1021
. . . www.cox-applicators.com REV DATE
82600 200z/100z Comination Applicator sales@cox-applicators.com
= Qualty Sealant Agphcaton — 800-822-8114 B 13/02/2009




Parts List
STOCK No DESCRIPTION QTY
2C1801 |[Cap Plastic 2 Start 1
2F1204 |M8 Lock Nut 1
2F1430 |M4 Washer 1 2F1715
2F1715 Screw 1 2M6106
2M1092 |Yellow Plastic Washer 1
2M6106 |Rack Handle 1
2M6107 |Barrel Screw Insert 1 3R6481
2P1021 |Split Sachet Plunger 1
2XH002 _|Hanging Hook 1 2XH002
3F2419 [Steel Washer 1 2F1430
3F2443 |Nut & Washer 1
3P1006 |Steel 40mm 'Tin Hat' Plunger 1
3R6481 |Rack 480mm 1 7C1001
3XB052 [Barrel Screw 1
7B3375 |Barrel 375mm 1
7C1001 |Air Gun Back Cap 1
7A5100 |Electraflow Butt 1
7A5200 |Electraflow Battery 1 3XB052
7B3375 7A5100
3F2443
3F2419
2F1204 2M6107
7A5200
2C1801
3P1006
2P1021
. . . www.cox-applicators.com REV DATE
82600 200z/100z Comination Applicator sales@cox-applicators.com
— Guaity Ssaiant Appicaion - 800-822-8114 B 13/02/2009




